EARAROBEEIERT — 2 N— IBISH —F

201954A7H (B) 3mE+1U6H

mﬂa% 38 REEF 5T ER (w8 | mEmml - |5 %) w8
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= —_ . . = N
ilglis| FL57 1719~ 4 3 5@::5)@ 1.(1_2).4 2-2 37.9] 86.7 | 1 472 rxgﬁl‘?? (=)
QANRZATLYT BFLT KOS #6) | Fegm
= =% . 4 3 | BHEBE 1:12.5 7-5 37.6| 86.0 | 6 508 | /NEPREB (35iF)
2|5(10| 77 17>t 56.0 (1/2) (44 | #) Basic
LIZART—WF— B:TFLVILI I hE xR
SRS A 43 | KEBE 1:12.9 1-1 38.6| 825 | 2 496 | /INEfRBA (EH)
3 11| 7B > [N A53.0 (2 1/2) (-4) EBE’;HD)L?
I ZART—yF— B:a—-R7ar b K77 — L4
= = 3 | HEEAA 1:13.0 8-7 38.0(81.5| 3 460 | HBER (EH)
4 gl 7¥v 7 56.0 1/2) © () RS
R:Tdr7—3IUF7> B:I5CTE-—ER SRS
.2 4 3 | MEEE 1:13.0 5-5 38.2]81.4| 9 476 | HBMREA (EH)
5|7]13| ¥~>¥3—~10— 56.0 ) 1) |BEBEX
Y = e V7%l V2 = R = VAV J E e ]
S = — 3 | eUBEHE 1:13.5 5-8 38.7|77.1| 5 532 | FHEMEX (XiH)
6 6| Ly F7T=74 % %53.0 ®) o) | @) FRE-ZL-—2>F
L:Td—IWRT7Y2—)b B:ZXbTFrTyy J—HrTr—LA
— - sEE— . . )
7110 | F27UF 4 it 3 o, (11.15,/.‘3 13-12 | 38.0| 74.6 | 13 zzgz; ity
R:TF7>TVRZ B T7TFFTI— RS TV InNL—
. . FHE—H : — RIEE (EH)
gl1l1|xxHxy K [B] i 3 e (12.114/.22) 16-15 | 37.2| 71.5 | 14 zzg)e Ui
L:T7ROFLTEL B by TIVE— ke
R EEETT 4. = . . HAEM®E (EH
9 7 a>y—vyt4 3 5#%_05 1 (114) 4 2-3 39.9] 70.9 4 (4;8) vty
R:xF1=g7— BTV EXX—H— HR& KMEXT-T
it 3 | BEEEAR 1:14.4 9-11 39.1]69.6 | 8 460 |AZERER (i)
107 14| 71 A5 — A51.0 (7E) 4y |REES
R:r—775>3 B:7URA>TUT B AXFRBEFLASERBS
N [V N: : - NEXZ (E#)
1lslg| vasvvhns i3 I 1;:{1::_5 14-14 | 38.2| 68.5 | 7 zzgis R
LANRZXTNGT B LAFTFT7TUN E&HL BRI
NS AR : = BBk (EH)
M DR i 3 e 17111:;5 2-3 40.0 | 70.2 | 16 fze) il
RG> h—9 B:T1—Tdraxtr A =i
N N R - EEILES 5PN 114, - . . LTEEZ (ER
13lgligl ¥ v oA TEF L] 25 1(1\:;)5 9-9 39.2| 68.8 | 10 ;1_162) il
74 —=TTVZ7 B:T77—F—-XTLZR II75TT =14
> it 3 | BE® 1:15.1 11-12 [ 39.7| 64.4 | 12 | 430 |HOEEFDE (i)
14 4 Jx>IA37 54.0 (3 1/2) (-g) |FWAS
L:T72SAINIVR B:T72RA pailz:be )
;= i+ 3 | JIHESE 1:15.3 11-9 39.9| 63.1 | 11 458 | AREE (EiH)
15 3|7V IR g 56.0 (3/4) (-q) |EBNIFE
Z:O0—KNUFZX B:73/7%J> sk
A= 4 3 | B2t 1:15.9 15-16 [ 39.1| 57.2 | 15 472 | REEMR— (EH)
16jff 5| ERIFNVAZ—T 5.0 3 1/2) wio) | W) vrxsAL-vy
L:ly RRIN—4 F: )Xk LYY RT7—4
@ 71 L
) 49.6-38.1
NA>24 L | 11.8-11.0-11.5-11.8-12.8-13.5
® I —F—@EBIERL
1T=7r=
230—7F—
Gal=7r= 11(7,12,15) (6,13)10,8(14,16) (4,3)-2-9-5,1
40—+ — 11-15(7,12) (10,13)8,6(3,16) 14(4,2)-9-1-5
[ N3
BB 15 210H 714K 10-15 670M e E 5-8 1,110/ 3EfE | 10-11-15 2,770
8 B 15 110 11-15 260M B = 10-15 1,660 3EE | 15-10-11 13,510
10 410M 10-11 1,370 | | B B 15-10 2,200
1 160/

ABICOVWTRDTEEERROODE. TR LIV,




